January 23 2013 8th.gwb - 2/3 - Wed Jan 23 2013 14:43:01

4.
$$\left(\frac{4x^{-3}y^2}{xy^{-5}}\right)^{-2} = \frac{4^{-2}\sqrt{6x^{-4}}}{\sqrt{2}\sqrt{10}} = 4^{-2}\sqrt{2}\sqrt{2}$$

$$= \frac{\sqrt{2}}{\sqrt{2}\sqrt{10}}$$

$$= \frac{\sqrt{2}}{\sqrt{2}\sqrt{10}}$$

$$= \frac{\sqrt{2}}{\sqrt{2}\sqrt{10}}$$

$$= \frac{\sqrt{2}}{\sqrt{2}\sqrt{10}}$$

$$= \frac{\sqrt{2}}{\sqrt{2}\sqrt{10}}$$

22.
$$8x^{4} - 4x^{2} + x + 4) \div (2x + 1)$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1 + 3 \Rightarrow x + 1$$

$$2x + 1$$

$$(2xy^3)(-3x^{-1}y^{-3})$$

$$3^{-3}X = \frac{X}{9}$$

11.
$$(w-4)-6+3w^2-4u$$

 $w-4-6-3v^2+4u$
 $w-10-3v^2+4u$